
Observable Run 1 Run 2

N(B0
s → D0φ) 174.5± 17.0 (13.9) 740.3± 34.0 (28.5)

N(B0 → D0φ) 48.3± 19.5 (9.3) 77.4± 26.2 (13.0)
N(B0

s → D∗0φ) 233.2± 25.0 (20.3) 877.5± 50.0 (40.8)
N(B0 → D∗0φ) 32.4± 23.3 (13.9) 240.0± 51.7 (31.0)

R(B0
s → D0φ) (%) 19.2± 0.8 (0.7)

R(B0 → D0φ) (10−3) 6.4± 1.7 (0.9)
R(B0

s → D∗0φ) (%) 26.5± 1.4 (1.1)
R(B0 → D∗0φ) (%) 1.8± 0.4 (0.2)
fL(B

0
s → D∗0φ) (%) 53.1± 6.0 (4.8)

B(B0
s → D0φ) (10−5) 2.30± 0.10

B(B0
s → D∗0φ) (10−5) 3.17± 0.16

B(B0 → D0φ) (10−7) 7.7± 2.1
B(B0 → D∗0φ) (10−6) 2.2± 0.5


